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דיון בשיעורי בית 

א' הרבה מהאנשים הטוענים לקיום  "אובייקטיבי" של עולם ישויות מתמטיות נותנים דוגמה של חשבון: מה שלא יקרה 4=2+2. מה צריך לקרות כדי שיתקיים 3=2+2? כדי לענות על השאלה הזאת יש לחשוב על המשמעויות של חוקי חשבון.

תשובה. חוקי מתמטיקה נחשבים כ"אוניברסליים" בגלל שצירוף של עצמים גשמיים מסוגים שונים לא גורם לשינוי באובייקטים עצמם. לו היו עצמים נפוצים שצירופם היה גורם להעלמות של עצם אחד היה צריך להמציא פעולה מהסוג הזה. לו המצב כזה היה לכל עצמים אז הפעולה הזאת הייתה תופסת את מקומה של חוק חיבור. 

אפשרות נוספת להעדר שוויון 2+2=4 היא חישוב מקורב. בדרך הזאת משמעות של "2" היא כל ערך 1.5<x<2.5 ומשמעות של "3" היא כל ערך 2.5<x<3.5. אפשר לדבר על הסתברות שבה 3=2+2.

ב' בתרביות שונות של העולם העתיק האלים היו מיוצגים על-ידי ריבועים בעלי שטחים מסויימים: כדי להקריב קורבנות לאל כלשהו היה צריך לבנות מזבח בצורה של ריבוע בעל שטח מתאים לאותו אל. אם רצו להקריב לכמה אלים ביחד היה צריך לבנות מזבח בעל שטח השווה לסכום של השטחים הקשורים לאלים האלה. לשם כך היה צריך לבצע פעולות של חיבור וחיסור. 
פתרון.( Staal, F. (1999) Greek and Vedic geometry, Journal of Indian Philosophy, 27, 105-127.)
אפשר לקרוא לזה חשבון הריבועים. 

נסמן צלע של הריבוע A על-ידי a, צלע של הריבוע B על-ידי b: SA=a2, Sb=b2 , כאשר S מסמן שטח. יש לבנות ריבועים A+B ו-  A-B, כך ש- SA+B=SA+SB ו-  SA-B=SA-SB.


[image: image1.wmf]A

B

A

B

A+B





An important difference between this calculus and algebraic structures we use in contemporary mathematics is that the results are obtained by constructions and not by calculations.
Three possible origins of mathematics

1. Practical needs;

Herodotus טוען שמקור מתמטיקה בחישובים הקשורים לשינויים בשטח חלקי אדמה אחרי הצפות של נילוס.
2. Pure abstractions; Euclid's Elements invoke this hypothesis.
3. Rituals Seidenberg, A. (1962) Ritual origin of geometry, Archive of exact sciences, 1, 488-527 

סקירה כללית

המקור העיקרי של מתמטיקה מודרנית הוא מתמטיקה יוונית.
המקור המרכזי של מתמטיקה יוונית הוא הספר של אוקלידס, אשר נתן השראה למדענים מהמאה 15 לפיתוח מתמטיקה מודרנית.

נושאים נקבעו כשייכים למתמטיקה בהתאם לנושאים שבהם עוסק הספר של אוקלידס, דהיינו מספרים (בדידים), גדלים (רציפים), וצורות גיאומטריות במישור ובמרחב.

מקור נוסף להתפתחות מתמטיקה היא פילוסופיה יוונית אנליטית מעיקרה. בהקשר של מדעי הטבע זה מתבטא ברצון לחלק כל דבר (גופים גשמיים, קטעי זמן תחומים במרחב) לחלקים קטנים יותר, במתמטיקה השאיפה הזאת מתבטאת בניסיון להגיע למושגי יסוד (מושגים ראשוניים) וטענות יסוד (אקסיומות) שמהם נבנים מושגים נוספים ומתקבלות טענות נוספות.

חשיבותה של גיאומטריה במתמטיקה המודרנית היא בכך שדווקא בחלק הזה אצל אוקלידס הופיע המבנה של תיאוריה אקסיומטית. המבנה הזה שימש כדגם לפיתוח מתמטיקה עד מאה ה- 19. 
ההתפתחות החשובה הראשונה של  חידוש מתמטיקה באירופה מבחינת נושא לדיון היא הופעת משתנים והתפתחות אלגברה. לפני זה בעיות אלגבריות פתרו בשיטות אריתמטיות או גיאומטריות.

מאפיין חשוב של מתמטיקה מודרנית שלא היה קיים אצל היוונים זה רעיון האינסוף (אצל היוונים היה דיון בגדלים הולכים וקטנים כמו בפרדוקסים של Zeno). 
מאפיין  נוסף של מדע יוונית (ושל מתמטיקה בפרט) הוא הפרדה בין שימושים ומדע טהור. 

The land measurement had nothing to do with Euclidean geometry (Netz, R. (1999) The Shaping Of Deduction In Greek Mathematics, Cambridge University Press, Cambridge., p.300)

 “[T]he Greeks distinguished carefully between two aspects of knowledge about ordinary numbers: logistiké, the art of calculating, and arithmetiké,  an abstract theory of numbers. ... In the eyes of the Greeks, to be concerned with logistika was considered beneath the dignity of mathematicians and philosophers, who assigned this drudgery to lesser persons, while they devoted their attention to arithmetika, geometry, and philosophy.” pp. 16-17

Schaaf, W.L. (1966) Mathematics as a cultural heritage, (Schaaf, W.L.(ed) Our Mathematical Heritage (second printing), Colllier Books, New York), reprinted from The Arithmetic Teacher, 8(1),5-9, 1961.

The difference between the Greek mathematics and modern mathematics: Greek mathematics was interested in existence of certain mathematical objects (geometric figures, numbers, ratios, proportions, etc.). This aim determined the methods of inquiry. “In contrast to this, modern mathematics… turns its attention first and last to method as such. It determines its objects by reflecting on the way in which these objects become accessible through a general method.” Klein, J. (1968), Greek mathematical thought and the origin of algebra, Dover Publications, New York, pp.122-123)

הגישה של היוונים להדגיש את הנושא מפני השיטה באה לידי ביטוי בחלוקת המדעים בימי הביניים (באותם זמנים מדענים ניסו לחקות את היוונים ככל האפשר). בימי הביניים לשם בניית תוכניות לימודים חולקו המדעים ל- 7 חלקים (7 liberal arts). ארגנו אותם בשתי קבוצות:

1. ה- Quadrivium אשר התכנים שבו נחשבו כחשובים יותר מתייחס לנושאים:

arithmetic (numbers at rest), geometry (magnitudes at rest), music (numbers at motion), astronomy (magnitudes at motion) 

2. ה- Trivium הנחשב לפחות חשוב מתייחס לשיטות: grammar, rhetoric, dialectic (logic)

היוונים התייחסו לעצמים שהם דנו בהם כלעצמים "קיימים" באמת (בדומה לעצמים גשמיים ואף "קיימים יותר" מכאן פלטוניזם). במתמטיקה מודרנית השאלה היא אפשרות שימוש בשיטה, וטבע של הישות עליה מופעלת השיטה לא חשוב.
שימו לב: לוגיקה ומתמטיקה מופרדות!  לוגיקה פורמאלית נדונה אצל אריסטו כחלק ממפעל הפילוסופי שלו, לוגיקה לא נחשבה כחלק של מתמטיקה ולא שיחקה תפקיד חשוב במתמטיקה. קשר בין מתמטיקה ולוגיקה התחיל להיווצר כאילו באקראי, כלומר כל מי שקישר ביניהם עשה את זה באופן טבעי ברור מאליו בלי להכריז על מציאת קשר חדש בין שני מדעים שונים. למשל דקרט (Discourse on the Method, ch.2) 

“Among the branches of philosophy, I had, at an earlier period, given some attention to logic, and among those of the mathematics to geometrical analysis and algebra, -- three arts or sciences which ought, as I conceived, to contribute something to my design.”  
הקשר בין מתמטיקה ולוגיקה התמסד רק החל מאמצע מאה 19 כאשר Boole כתב ספר בו חקר את לוגיקה בכלים אלגבריים. בתחילת מאה 20 Russell הלך בכיוון ההפוך וניסה להראות שמתמטיקה היא חלק של לוגיקה, אך הגישה שלו לא הצליחה.
חשיבותה של גיאומטריה אצל היוונים התבטא בזה שגם דיון במספרים טבעיים נעשה באמצעות המחשה גיאומטרית (המספרים הוצגו כקטעים). גיאומטריה המשיכה להיות הענף השולט במשך ימי הביניים. גם בתחילת העידן המודרני גיאומטריה נחשבה החלק החשוב של מתמטיקה והתפתחה אלגברה גיאומטרית אשר בה היו פותרים בעיות אלגבריות באמצעות בניות גיאומטריות. מדענים שפיתחו את הגישה הזאת האמינו שהם מחקים את הגישה היוונית, אך מחקר היסטורי במאה ה-20 הוכיח שיוונים לא חשבו במונחים אלגבריים ובניותיהם לא נועדו לפתרון משוואות. הצמדות של מתמטיקאים לגיאומטריה לשם הצדקת התיאוריות שלהם התבררה עם הזמן כלא יעילה והגישה של מפתחי אנליזה מתמטית במאה 19 הייתה אריתמיזציה של מתמטיקה (כלומר ביסוסה על אריתמטיקה). כתוצאה מכך תפקיד של גיאומטריה במתמטיקה מודרנית פחת מאד, ואילו מספרים טבעיים ממשיכים לשחק תפקיד המרכזי.
The Greek mathematics has several important ancestors. We begin our review from several glimpses on these ancestors. We note that the important feature of all these ancestors as we know them is the practical character of their mathematics.
Egyptian mathematics
The Egyptian number systems were not well suited for arithmetical calculations (their drawbacks were similar to that of Roman numerals. Basically they had to devise methods of multiplication and division which only involved addition. Two major mathematical documents survive. These are the Rhind papyrus and the Moscow papyrus.
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	the Rhind papyrus.

 The Rhind papyrus is named after the Scottish Egyptologist A Henry Rhind, who purchased it in Luxor in 1858. The papyrus, a scroll about 6 metres long and 1/3 of a metre wide, was written around 1650 BC by the scribe Ahmes who states that he is copying a document which is 200 years older. The original papyrus on which the Rhind papyrus is based therefore dates from about 1850 BC. The Rhind papyrus is now in the British Museum in London.
	the Moscow papyrus

The Moscow papyrus also dates from the time of the Rhind papirus. It is often called the Golenischev papyrus after the man who purchased it. The Moscow papyrus is now in the Museum of Fine Arts in Moscow. The Rhind papyrus contains 87 problems while the Moscow papyrus contains 25.


Egyptian numerals

The Egyptians had a writing system based on hieroglyphs from around 3000 BC. Hieroglyphs are little pictures representing words. It is easy to see how they would denote the word "bird" by a little picture of a bird but clearly without further development this system of writing cannot represent many words. The way round this problem adopted by the ancient Egyptians was to use the spoken sounds of words. 

The Egyptians had a decimal system of hieroglyphs for numerals. That is, they has separate symbols for one unit, one ten, one hundred, one thousand, one ten thousand, one hundred thousand, and one million. 
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Egyptian numeral hieroglyphs





Note that the examples of 276 and 4622 in hieroglyphs are seen on a stone carving from Karnak, dating from around 1500 BC, and now displayed in the Louvre in Paris.


	For example
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As can easily be seen, adding numeral hieroglyphs is easy. One just adds the individual symbols, but replacing ten copies of a symbol by a single symbol of the next higher value. Fractions to the ancient Egyptians were limited to unit fractions (with the exception of the frequently used 2/3 and less frequently used 3/4). A unit fraction is of the form 1/n where n is an integer and these were represented in numeral hieroglyphs by placing the symbol representing a "mouth", which meant "part", above the number. Here are some examples: 
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Notice that when the number contained too many symbols for the "part" sign to be placed over the whole number, as in 1/249 , then the "part" symbol was just placed over the "first part" of the number. [It was the first part for here the number is read from right to left.] 

This fact of work exclusively with 1/n fractions led some researches to relating it to personification and, consequently, individualization of fractions. If one feels that each fraction is unique, each appears only in one copy. (Yankov, Typological peculiarities of arithmetic in Ancient Egypt and Mesopotamia, in Russian)
The hieroglyphs did not remain the same throughout the two thousand or so years of the ancient Egyptian civilization, yet retained a similar style.
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	Another number system, which the Egyptians used after the invention of writing on papyrus, was composed of hieratic numerals. These numerals allowed numbers to be written in a far more compact form yet using the system required many more symbols to be memorised. There were separate symbols for 

1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 20, 30, 40, 50, 60, 70, 80, 90, 100, 200, 300, 400, 500, 600, 700, 800, 900, 
1000, 2000, 3000, 4000, 5000, 6000, 7000, 8000, 9000


With this system numbers could be formed of a few symbols. The number 9999 had just 4 hieratic symbols instead of 36 hieroglyphs. One major difference between the hieratic numerals and our own number system was the hieratic numerals did not form a positional system so the particular numerals could be written in any order. Here are two ways the Egyptians wrote 2765 in hieratic numerals
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The two systems ran in parallel for around 2000 years with the hieratic symbols being used in writing on papyrus, as for example in the Rhind papyrus and the Moscow papyrus, while the hieroglyphs continued to be used when carved on stone.

Illustration of the Egyptian method of multiplication

 Assume that we want to multiply 41 by 59. Take 59 and add it to itself, then add the answer to itself and continue:
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	Since 64 > 41, there is no need to go beyond the 32 entry. Now go through a number of subtractions 

41 - 32 = 9, 9 - 8 = 1, 1 - 1 = 0 

to see that 41 = 32 + 8 + 1. Next check the numbers in the right hand column corresponding to 32, 8, 1 and add them.
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Division works also using doubling. For example to divide 1495 by 65 we proceed as follows:
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	We stop at this point because the next doubling will take us beyond 1495. Now we look for numbers in the right hand column which add up to 1495. We see that 1040 + 260 + 130 + 65 = 1495 and we tick the rows in which these numbers occur:
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Now add the numbers in the left hand column which are in ticked rows: 

16 + 4 + 2 + 1 = 23, so 1495 divided by 65 is 23. 

The next problem is how to multiply numbers involving fractions. The first important point is that the Egyptians only used unit fractions, and to be able to calculate a table was needed to convert twice a unit fraction into a sum of unit fractions. Now it might be supposed that doubling the unit fraction 1/5 would be easy and yield the sum of the unit fractions 1/5 + 1/5. However, for reasons which we do not fully understand, this was not their approach. They wrote twice a unit fraction as the sum of distinct unit fractions. For example twice 1/5 would be written as 1/3 + 1/15.

The Rhind papyrus gives a table for doubling unit fractions 1/n for n odd, n between 5 and 101.

There are few errors in the Rhind papyrus but they appear to be errors of calculation, not of copying, since the incorrect result is carried forward instead of returning to the correct path which would happen from an error in copying.

An example of use of the doubling table. Problem 21: Complete 2/3 and 1/15 to 1. 

In modern terms, this asks for a fraction x such that 

2/3 + 1/15 + x = 1. 

The method of solution was to "get rid of" the fractions by multiplying through. In this case multiply each fraction by 15 to obtain 

10 + 1 + y = 15. 

This is called the "red auxiliary" equation since the scribe wrote this equation in red ink. [Of course it would not appear in this form but rather "complete 10 and 1 to 15".] 

Now the answer to the red auxiliary equation is 4 so the original equation had solution 2((2(1/15). From the doubling table we see that double 1/15 is 1/10 + 1/30. Doubling this gives 1/5 + 1/15 which is the required solution to Problem 21:
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Let us now see how to multiply, using Egyptian methods, 1 + 1/3 + 1/5 by 30 + 1/3.
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Multiplication by 2/3 was carried out and then divided by 2. 

Next find the numbers in the left hand column which add to 30+1/3. These are the rows marked with a tick:
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Add the entries in the right hand column of the rows which are ticked to get the result of the multiplication  46 + 1/5 + 1/10 + 1/12 + 1/15 + 1/30 + 1/36. 

מתמטיקה בבלית

בבלים המציאו הצגת מספרים לפי מיקום ספרות, כולל בתקופה מאוחרת (בסביבת הזמן של אלכסנדר הגדול) שימוש בסימן ריק (כלומר 0) אם הוא מופיע בין ספרות, אך לא בסוף המספר.

הם השתמשו בערבוב של הצגה עשרונית (עד 60) והצגה על בסיס 60, למשל
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הם לא הכניסו סימן להפרדה בין חלק שלם ושברים ולא 0 מימין, לכן אותו מספר שימש להצגת מספרים שונים בכפל בחזקה של 60 ואת המשמעות אפשר היה להבין מהקשר בלבד. למשל הנה הצגה ל-  (2: 
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הערך הזה שווה ל-  1.414222 וההבדל מהערך הנכון הוא פחות מ- 10-5 ההישג ששום חברה לפני זמן הרנסנס לא היגיע אליו.

בבלים ידעו לחשב שורש בשיטה הנקראת היום אלגוריתם ניוטון:

לחשב שורש a. נסמן ב- b1 הערכה מלמטה על-ידי מספר שלם;

c1=a/b1, c1>(a; b2=(b1+c1)/2; c2=a/b2,… bk+1=(bk+ck)/2; ck+1=a/bk+1…

דוגמה

(2 ( b1=1, c1=2; b2=3/2, c2=4/3; 
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הבבלים עשו שימוש נרחב בטבלאות שונות (לוח הכפל, מספרים הפוכים, שורשים)

ארכיאולוגים מצאו הרבה טכסטים עם שאלות למציאת שני מספרים לפי הסכום והמכפלה שלהם.

דוגמה. נתון

x+y=13/2; xy=15/2

פתרון:

(x+y)/2=13/4 ( (x+y)2/4=169/16 ( (x-y)2/4=(x+y)2/4-xy=49/16 (  (x-y)/2=sqrt((x+y)2/4-xy)=7/4

ומכאן 
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אפשר לומר שבבלים פתחו אלגברה אריתמטית.
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